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1. Consider the following model:
X = aLd
Y= b'Ly
Ix'+Ly' =L fori=H, ¥

where, X and Y are two different commodities;
Lx and Ly are the amount of labor employed in the production of
X and Y, and the ratios are a and b respectively;
H and F are the home country and the foreign country respectively,
and, L' stands for the total amount of labor in country i.

Suppose that (b/a)" > (b/a)F, then which of the following statements will hold
true?

a) the foreign country has a comparative advantage in the production of Y,

b) the home country has a comparative advantage in the production of Y

¢) the foreign country has an absolute advantage in the production of Y,

d) the home country has an absolute advantage in the production of Y.

2. If a consumer is initially a lender, how would he react to an increase in the
interest rate? '
a) the consumer must become a borrower,
b) the consumer will become & botrower, if the income effect dominates;
¢) the consumer would remain a lender, if and only if the income effect is
small enough; '
d) the consumer must remain a lender.

3. For a profit-maximizing monopolist facing two segmented markets {i = 1,2)
with different price elasticities of demand (g, > &2 > 0), which of the following
statements will hold true?

a) p1>pa
b) piL<p
¢) P1=p
d) none of the above.

4. Twin deficits were the main economic issues, with which the U.S.
government were most concerned in the 1990s. What are the “twin
deficits™?

a) fiscal deficit and financial deficit;

b) budget deficit and the deficit in the balance of payments;
¢) fiscal deficit and trade deficit;

d) financial deficit and national debt.
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3.

Which of the following is not among the policy recommendations made by the
- supply side economists during the Reagan Admuustratxon?
a) tax reduction;

b) increases in tax rates;
c¢) reduction in fiscal deficit;
d)  increases in employment opportunities.

Which of the following statements is false?

a) Open market operations are the Central Bank’s preferred means of
controlling the money supply;

b) An open market purchase of securities by the Central Bank results in an
increase in reserves and an increase in the supply of money by an amount
equal to the money multiplier times the changes in reserves;

¢) An open market sale of securities by the Central Bank results in a
crowding-out effect against investments made by the private sector;

d) The Central Bank is a quasi-independent agency to buy and sell new
government’s securities on the open market.
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2. Gresham’s Law
3
4. Moral hazard
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